MODEL:HAER

B R1-Stage
EL8f: 3,4,5,7,8,10
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Note 1: Inside of()isthe optional range of sizes outside of () is the standard size s.
MNote 2: The reducer output shaft size and length can be customized for custmers.
Note 3: The input size can be customized according to the customer's motor size
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#£EX2-Stage
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Note 1: Inside of()isthe optional range of sizes outside of () is the standard size s.
Note 2: The reducer output shaft size and length can be customized for custmers.
Note 3: The input size can be customized according to the customer's motor size
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